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Which ot the following statement is incorrect
reparding an clectromagnet?
@ Magnetisme o an electromagnet can be
switched onor ol as desired
(O Magnctusme depends one current passing
through the cotls o an electiomagenet
() Lhe stenpth ol an electromagnet can be
changed by changmge the number of turns
m s coul
M) The polarity of an clectromagnet is fixed
and can not be changed
A4 Q resistance is doubled onit then its
new resistance will be

(@) 4Q M2 ©1Q 4Dh8Q
An clectron enters in a magnetie field at right
angle (see figure below). The direction of
force acting on the clectrons will be
(@) to the right S >
(b) to the left > B
(¢) out of the page o "w’"'-_—;
_d) into the page B B >
S. A positively charged particle  projected
towurd§ west is deflected towards north by a
magnetic field. The direction of magnetic
field is
~Aa) towards south (b) towards cast
(¢) downward (d) upward
6. The . phenomenon  of clectromagnetic
., induction is
{

(a) the process of changing a body
(b) the process of generating magnetic field
due to current passing through a coil
_f¢) producing induced current in a coil due to
relative motion between coil and magnet
(d) the process of rotating a coil of an
clecetric motor

(h

10.

11.

12.

V(/fw) a circular coil

A strong bar magnet is placed vcrlica.lly

above o horizontal  wooden  board. he

magnetic lines ol foree will be

(a) only in horizontal plane around the
magnelt

(b) only in vertical planc around the magnet

(¢) in horizontal as well as in vertical planes
around the magnet

) in all the planes around the magnet

Ihe  diagram  given below  represents

magnetic ficld caused by a current carrying

conductor which is N | //
(a) a long straight wire (-%‘\ ( /C
— /
AN
(d) a short straight wire )
An object is put in three liquids having
dilferent densities one by one. The object

(¢) a solenoid

. 1 2 .
[loats with l —- and 3 parts of its volume
9 11 7

outside the surface of liquids of densities d,
d; and d; respectively. Which of the
following is the correct order of the densities
of the three liquids?

(@)d, >d,>dy (b) d, >d3>d,

() d; <dy<d; (d)d3;>dx>d,

Four balls A, B, C & D displace 10 ml, 24
ml, 15 ml and 12 ml of a liquid respectively,
when immersed completely. The ball which
will undergo the maximum apparent loss in
weight will be

) A (b)B () C (d)D

The gravitational force between two objects
is F. How will this force change when
distance between them is reduced to half?

(a) F/4 (b) 4F

(2) 2F (d) F/2

Which among the following bodies is more
energetic? .

(@) mass M & speed 2V

(b)y mass M & speed V
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€) mass )

(¢) mass 2Mm & speed v

(d) mass 3N & speed V2

A rod of mass ‘m" & lenpeth o
horizontal table

13,

18 Iyimg on a
Work done in making it
stand on one end will be

AA) mg
gt
i
4. It I?k‘ sound wave is produced by vibrating

tuning .(ork shown in figure, then halt of time
pertod is represented by n

-A£a) AB
(b) BD
(¢) DE

(d) AE

(b) mg/2

(c) () 2mgi
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I5. A boy 1.5 m tall with his eye level at 1.38 m

16.

17.

8. A change of state from solid to gas is called
(a) Fusion (b) Fission
& Sublimation (d) Evaporation
). The number of particles in 8g O, is
(a) 1.75x10% (b) 1.89x10%
(c) 1.99x10% (d) 1.51x10%
In periodic table, period II has following
elements
(a) Li, Na, K, Rb, Cs, Fr
¢ B, Be, O,N, Li, C

stands before a mirror fixed on a wall. What

should be the minimum length of the mirror

so that he can view himself fully?

(@a1.5m (b)3.0m

(¢)0.75 m (d) 1.38 m

An erect image 3 times of the size of the
object is obtained with a concave mirror of
radius of curvature 36 cm. What is the
position of the object from the mirror?
(@3cm {(b)-6cm (c)18cm £d)-12cm
The power of a plano-convex lens of
refractive index 1.5 and radius of curved
surface 15 cm would be

3.33 dioptre

(c) 30 dioptre

(b) 1.5 dioptre
(d) 15 dioptre

(c) Be, Mg, Ca, Sr, Ba, Ra

(d) Na, Mg, Al Si, P, S

21 Orange jul

ce was diluted 10 times, ity pH

will
(a) Increase
(B) decrease
(¢) remain unchanged
_(d) will becom¢ ncutral o N
What is the correct order of relative activitiey

of metals? ‘
(m) K -Na-Ca-Mg (b) Nu/Kf(Ja/Mg
(¢) Na K--Mg-Ca (d) Mg/(,a/K/N,d-
23, How many moles of 3.6 g of water will
contain?
«ay 0.2 moles (b) 0.5 moles

(c) 1.0 moles (@20moles
24. Which one of the following 1s not possible?
(a) Fe + CuSO4 — FeSO4 + Cu
Pb + FeSO4 — PbSO4 + Fe
(c) Cu+2AgNOs3 — Cu(NOs), + 2Ag
_(d) Zn + MgSO4 —> ZnS04 * Ag
25. Milky colour formation in lime water on
passing CO, gas is due 1o
~a) Formation of CaCOs
, (b) Formation of Ca(HCO3)2
(c) Formation of CaO
(d) Formation of CaCl,
Which of the following statement is not true
about metal oxides?
(a) Most of the metal oxides are basic in
nature
(b) Most of the metal oxides are insoluble in
water
£) Most of the metal oxides are acidic in
nature
(d) Some metal oxides are amphoteric in
nature '
For a reaction 3MnO,(s) + 4X(s) — 3Mn (£)
+ 2X504(s), which of the following metals
substitute ‘X’?
@AL  (Ag  (©Cu  (d)Hg
28. How will you name the compound CH; — CH

26.

27.

? CHz‘7
(a) Propyne (b) Ethyne
(&) Propene (@) Butene
29. Functional group in Butanone is
(a) - CHO (b) COOH

(2)
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| he metals stored i 1
o e o |
(@) Zn. L1 Na ) Li. K. \4
() Li. K. Ps (d) Ss, Py,

RN
£ 1“““‘1\ sis ol Brine gives at .mom

(a) H, gas (8) C ¢, gas
(€) O gas (d) H-O
Removal of oil and dirt from cloth by soap
and detergent is due to
(@) Hydrophobic group
(b) Hydrephilic group
4¢) Hydrophobic and Hydrophilic group
(d) ionic group

(Y]

Y\"hich of these allotropes of carbon is
formed of hexagonal arrays being placed in
layers?
(a) Diamond (b) C-60 fullerene
€¢) Graphite \(d) Both (a) and (b)
54, The compound showing highest boiling point
(a) CH;COOH (b) CH; - CH, — CH;
(c) CH;OH &) CHC ¢,
35, The correct order of the biological hierarchy
from “Kingdom of Species™ is
(a) Kingdom, Order, Family, Class, Phylum,
Genus, Species
(b) Kingdom, Phylum, Order, Class, Family,
Genus, Species
(¢) Kingdom, Class, Order, Phylum, Family,
Genus, Species
(¢) Kingdom. Phylum, Class, Order. Family,
Genus. Species
36. Members of Phylum Arthropoda lack one of
the following features
(&) Jointed legs
(b) Closed type of circulatory system
(¢) Blood filled coelomic cavity
(d) Fxoskeleton
7 Roundworms infect human by
(1) Penetration of skin by infective lar\ae

(P Intectne ac reaching gastro-intestinal
" 1ot :E"'o improperiy cooked pork
o) Toes ;nt';\: it in contaminated food and
W I
ASEIALINAN

38 Staphylococct 15 a  gramn-posiing
which stains !
(a) purple (b) red
(¢) brown (d) pink E

39. The correct ditference between prokaryotic
and eukaryotic cells is
(a) In prokaryotes vacuoles are absent while
they are present in eukaryotes
(b) Microtubulus are present in prokaryotes
while absent in eukaryotes
(¢) Prokaryotes have smaller nucleus while
cukaryotes have bigger nucleus
(d) Lysosomes are absent in eukaryotes
~ while they are present in prokaryotes
40. Which is the correct order of increasing
geological time scale for vertebrate
evolution?
(a) Cenozoic,
Precambrian
(b) Cenozoic,
Precambrian
(¢) Precambrian,
Mesozoic
(d) Precambrian,
Cenozoic
41. The genotype tor the blood group AB is
@I I @ (@
42, Which of the following alternatives is
incorrect?
(a) Jersey & Browa Swiss are breeds of
cattle
(b) Aseel and Leghorn are breeds of poultry
(¢f Pomphret and Bombay duck are domestic
fowl
(d) Rohu and Catla are fresh water fishes
43. Choose the correct statement
) Primary consumers are key link between
producers and rest of consumers
(b) Producers convert chemical energy into
light energy
(c) Available energy gradually decrease
from higher to lower trophic levels
(d Food webs are rare in natural ecosystems

44 \ Cct (h\' most dpproww e statem ent
len grains
{a) In_ flowening plants P@ llen !

[ >4
v \Li aratca

Mesozoic, Paleozoic.

Paleozoic, Mesozoic,

Cenozoic, Paleozoic,

Paleozoic,  Mesozoic,

. T oyt A
,.‘\,;\\“"



(®) In flowerin
(¢) In flowerip

& plants pollen grains and

€mporally separated

N~ g plants poll ‘s ar

ind pollen grains are not

d) In ;]S(f)ens:ab]e for sexual reproduction
Wering plants pollen tube facilitates

the deliver
y for fi
pollen grains emale germ cells to

45.
To form Polygonum type of embryo sac

46.

47.

megaspore nucleus undergoes

(a) 3-Meiotic divisions

(b) 3-Mitotic divisions

() 2-Meiotic divisions

(d) 2-Mitotic divisions

In a dihylicid cross of yellow and round
seeds and green and wrinkled seeds, F; seeds
showed the four possible combinations in the

ratio of
@1:1:1:1 £659:3:3:1
(¢)1:2:2:1

d)9:6:1:1
The correct sequence in the pathway of
‘Reflex Arc” is

(a) Receptor — Sensory neuron — Relay
neuron — Motor neuron —> Effector

(b) Receptor — Relayneuron — Sensory
neuron — Motor neuron — Effector

(¢) Receptor - Motor neuron — Relay

neuron — Sensory neuron — Effector

Receptor — Sensory neuron — Motor
neuron — Relay neuron — Effector

M

48. Kidney has large numbers of filteration units

49.

50.

51

called as
(a) Flatiron (b) Natron
(¢) Neuron Ad) Nephron

The elongated plant cell with irregularly
thickened cell wall belongs to
(ayCollenchyma __(b) Parenchyma
(c) Fibres (d) Sclerenchyma
The breakdown of pyruvate using oxygen
takes place in
~{a) Mitochondria
(¢) Ribosomes

(b) Chloroplast
(d) Lysosomes

— . s 1 .
J35 . then the value of ao-— 18
a

(b) 4l6 - V35

If a=6-

(il) Zk() ¢ y35T

52.

53.

54.

55.

(c) ~24435 (d) 24435

Which of the following is an irrational
number between 2 and 37

(a) 2.357357

(b)2.101001000101 ...........

(c) 2.05131313 i

(d)2.579

Consider the following statements:

Let P(x) and Q(x) be two different

polynomials with real coefficients of degrees
m and n respectively. where m20 and
n>0, then

Statement | : deg (P(x)-Q(x))<d.

Statement 11: deg (P(x). Q(x)) =m +n
Where “d’ is defined as d

=mifm>n
=nifn>m
=mornifm=n
and ‘deg’ stands for degrec of the
polynomial.

In your opinion

(a) only statement II is true

(b) Both the statements | & 11 are true

(c) Both statements [ & 11 are false

(d) Only statement I is true

If the polynomial 2x"+7x*-5x*-16is
divided by x*+4x+k., according to the
division algorithm for the polynomials, the
remainder comes out to be x+a, then k and
a will be respectively

(@) 3, -1 (b) -3, -1

(c) -3.1 (d) 3.1

In a triangle ABC, one of the angles is 25%
more than the sum of other two. Then the
largest angle of the triangle is

(a) 120° (b) 110"

(c) 100° (d) None of these
The perimeter of an isosceles triangle is 20
cm. If each equal side is twice the base, then
the length of the three sides of the triangle
cm are

(a) 6,6, 8 (b)4.4,12
©)7.7.6 (d)8.8.4

For what value of "a’ does the following pair
of linear equations 1s inconsistent
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0.

71.

72.

73.

74.

75.

70

,— .
\mu the given figure, side QP and RQ of
QR are produced to points S and T

respectively. If ZPRQ=65" and /PQR=70",
then the Z/SPR is

(a) 45°
(b) 135°
(c) 65°

(d) 110°

77.
The moon is about 384000 km from the earth

and its path around earth is circular. The
moon takes 24 hours to complete one orbit.
The speed at which the moon orbits the earth
in km/hr is

(a) 16000 (b) 100571
(c) 50240 (d) 12560
ABCD is a parallelogram in which P and Q

are mid points of opposite sides AB and CD.
If AQ intersects DP at S and BQ intersects

78.

CP at R, then the total number of
parallelograms are

(a)2 (b) S

()6 (d)4

If cot A + cos 75° = tan 5° + sin 15° when
ZA lies between 0° and NGOV then the value

of Ais 79.
(a) 85" (b) 90°
(c) 95° (d) 70°

In the figure, if PQ|RS, ZMYR = 40" and
/XMY=85", then ZMXQ is

mo
(®) So P X Q 80.
(b) 95
0 M
(c) 135 .
Y S
(d) 140° R
From each corner of a square of side 7cm, a 31
quadrant of a circle of radius 2 cm is cut and
also a circle of diameter 3 cm is cut, the area
of remaining portion of the square is (in cm”)
(a)9.714 (b) 38.795
(¢)29.375 (d) 19.625 g

A triangular park ABC has sides in the ratio
of 3+ 5 7 and its perimeter is 300 m. A

farmer has to put a fence all around it with

(6)

barbed wire at the rate of Rs. 30 per meter
leaving a space 3.5 m wide for gate on one
side. The area of park and cost of fencing is
respectively.

(a) 150043 m® and Rs. 8895

(b) 1500415 m” and Rs: 8895

(c) 1500415 m” and Rs. 9895

(d) 1500y3 m” and Rs. 9895

The ratio in which the line segment joining
the points (-3,10) and (6,-8) is divided by (-
1,6) is

(a)2:7 (b)7:2

(c)1:1 (d)3:7

Which of the following figure lie on the
same base and between the same parallels

Q] °

Y A —

B
© p I & () D .
~G
E c
T
Py .h(flt(ll.l\ AT
B BT~/
P~
B

2 2 z
. R - 30 -tan” 45
The solution of 2608 m.c 5 dsee 7 =

sin“ 30+ cos” 30

o 2 lww,m

61 12
(c) 1 (d) 61

If A (-4, -2), B(-3, -5), C(3, -2) and D(2, 3)
are the vertices of a quadrilateral, then the
area of quadrilateral ABCD is (in square
units)

(a) 53 "(b) 28

()19 (d) 32

Who among the following was conferred
with the Indira Gandhi award for national
integration on October 31, 20157

wwv CN.RR. Rao (b) E. Sreedharan

(¢) Karan Singh (d) P.V. Rajagopal
Who among the following is the author of
Dreaming Big My Journey to Connect India
released in October 2015

61
(a) bE
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